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Ne 1. PyHKUMA Y = sin X

o Uncnoasa qpyHKUMA, 3agaHHas OpPMYon
Yy = Sin X, Ha3bIBAeTCA CUHYCOM.
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Ne 1. PyHKUMA Y = sin X
e leg=2knetkm n=3,14=3 R=1
Ay
I | ] \

cuUHycouda




Ne 2. PyHKLUMA Y = COS X

o Uncnoasa qpyHKUMA, 3agaHHas OpPMYon
Y = COS X, Ha3blBAE€TCHA KOCUHYCOM.
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Ne 2. PyHKLUMA Y = COS X
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Ne 3. PyHKUMA y = tg X

o Uncnoasa qpyHKUMA, 3agaHHas OpPMYon
y = tg X, Ha3blBaeTCcAa maH2eHCOM.
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Ne 4. PyHKUMA y = ctg x

o Uncnoasa qpyHKUMA, 3agaHHas OpPMYon
y = ctg X, Ha3biBaeTCAd KOMaH2eHCOM.
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Ne 4. PyHKUMA y
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